Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the lecture notes.

- Looking at them as little as possible, answer the questions.

The answers of the questions of week 6 should be handed to me at the beginning of Wednesday’s lecture of 20th of April. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.

Please write WEEK 6 in bold at the beginning of your answers.

WEEK 6
L10: Harrod’s trade cycle model
1.“In  Harrod’s investment depends on (expected) AD at the same time determines AD” Do you agree? Explain.

2. Consider the circular flow of expenditure-income-production presented in the lecture (with I = 18€). According to Harrod, what happens to utilization,  expectations about AD growth, investment and output if:

a) Entrepreneurs expect AD to rise from 90€ to 99€? Explain.

b) Entrepreneurs expect AD to rise from 90€ to 99,5€? Explain.

c) Entrepreneurs expect AD to rise from 90€ to 100,5€? Explain.

d) Entrepreneurs expect AD to rise from 90€ to 100€? Explain.

3. a) If there’s no L-saving TP and no depreciation, at which rate does capacity grows?

b) If output is to grow in line with capacity, at which rate must investment grow (assuming no autonomous consumption and no autonomous government expenditure)? Explain.

4. a) Suppose s= 30%, v=2 and no depreciation. If  L-saving TP is equal to 20% a year and the labour supply grows at 9%, will a Harrod’s knife-edge boom end up reducing unemployment to very low levels? Explain.

b) If unemployment falls to very low levels, what will happen to inflation? Explain.

c) Explain the three ways through which higher interest rates may slowdown the growth of investment. 

d) If unemployment falls to very low levels, explain the two reasons why profits may fall.

e) How do strong booms eventually come to an end?
5. a) Why there tends to be a shift from wages to profits in the first years of an expansion?

b) How does that fact put an end to the boom?

L11: the PK dynamic model
Note: the following two graphs give the basic facts that underlie the PK’s explanation of the cycle (based on the interaction between changes in utilization and in business investment).
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1. Why may the value of the multiplier be around 1.5?

2. How much time does it take for the bulk of the multiplier effect to take place?

3. Which are the two different effects that investment has on the economy? Explain.

Note: by now, ignore capital depreciation.

4. What happens to I when u > u*? Explain.

5. What happens to I when u < u*? Explain.

6. The PK investment function takes into account only one of the (complementary) factors that influence I: the motivation of entrepreneurs to do so.” Do you agree? Explain.

7. When u rises above u* and many businesses respond by raising investment above the reposition level, u may either fall back towards u* or rise even further above u*. 

a) Under which condition will the first case come about? Explain.

b) Under which condition will the second case come about? Explain.

